65. The Imperfect Active Indicative

The forms of the imperfect active indicative are the following:

Singular Plural
I. €xvov, I was loosening l. €nbopev, we were loosening
2. EAveg, you (sing.) were loosening 2. €ACeTE, you (pl.) were loosening
3. EAve(v), he, she, it was loosening 3. €hvov, they were loosening

66. Forms of the Augment

Present Imperfect
Gyw, I lead nyov, I was leading
axobw, I hear fikovov, I was hearing
eyeipw, I raise up fiyeipov, I was raising up
€xw, I have eixov, I was having, I had (irregular
augment)
Odeidw, I am obligated wdetrov, I was obligated
oipw, I take up npov, I was taking up
ebpiokw, I find ' nbpiokov, I was finding (but also efpiokoy

Compound verbs

amobviiokw, I die anebvnokov, I was dying
Grokteivw, I kill amekTevov, I was killing

katofaivw, I go down kateBorvov, I was going down



